

AGRICULTURAL COMMISSIONER'S OFFICE 4080 LEMON STREET, ROOM 19 P.O. BOX 1089 RIVERSIDE, CA 92502-1089 PHONE (951) 955-3000

DANIEL DELGADO SUPERVISING AGRICULTURAL AND STANDARDS INVESTIGATOR

RIVERSIDE/CORONA DISTRICT ACREAGE AND AGRICULTURAL CROP REPORT 2016

Riverside County's total gross valuation for 2016 is \$1,275,776,000.

Riverside County's total agricultural production is derived from four separate and distinct districts: Riverside/Corona, San Jacinto/Temecula Valley, Coachella Valley, and the Palo Verde Valley.

Below is a table comparing the value of the agricultural crops in each of the districts during the last three years.

	2014	2015	2016
Riverside/Corona	\$96,205,000	\$94,139,000	\$91,835,000
San Jacinto/Temecula	175,767,000	151,976,000	146,500,000
Coachella Valley	625,602,000	649,732,000	639,620,000
Palo Verde Valley	171,013,000	146,197,000	124,708,000

We must emphasize that this report reflects only a gross return and in no way represents a measure of profit to the producers.

If you have any questions regarding this report, or desire the complete Annual Riverside County Agricultural Production Report, please visit our website at www.rivcoawm.org or write or call your local Agricultural Commissioner's Office.

RUBEN J. ARROYO
AGRICULTURAL COMMISSIONER\
SEALER OF WEIGHTS AND MEASURES

CITRUS CROPS

			Produ	ction			Value
	Planted	Harvested	Per			Per	
	Acreage	Acreage	Acre	Total	Unit	Unit	Total
Grapefruit-Ruby	350	350	14.80	5,180	tons	560.00	2,901,000
By-products			2.45	858	"	59.43	51,000
Grapefruit-White	30	30	11.90	357	"	270.00	96,400
By-products			3.40	102	"	10.00	1,020
Lemons	270	270	15.60	4,210	"	1190.00	5,010,000
By-products			2.40	648	"	91.50	59,300
Miscellaneous *	70	70	5.10	357	"	920.00	328,000
Oranges-Navel	1,100	1,100	11.70	12,900	"	340.00	4,386,000
By-products			4.85	5,340	"	47.50	254,000
Oranges-Valencia	620	620	9.00	5,580	"	220.00	1,228,000
By-products			1.90	1,180	"	59.36	70,000
Tangelos	97	97	7.20	698	"	880.00	614,000
By-products			2.05	199	"	93.00	18,500
TOTAL	2,537	2,537					\$15,017,000

^{*} Includes: Kumquats, Mandarins/Tangerines.

TREE AND VINE CROPS

			Pro	Production			Value
	Planted	Harvested	Per			Per	
	Acreage	Acreage	Acre	Total	Unit	Unit	Total
Avocados	143	143	5.50	787	tons	1,900.00	1,495,000
Grapes, Wine	170	170	2.00	340	"	550.00	187,000
Miscellaneous*	10	10	7.00	70	"	1,700.00	119,000
TOTAL	323	323					\$1,801,000

^{*}Includes: Apples, Figs, Pomegranates.

VEGETABLE, MELON, AND MISCELLANEOUS CROPS

			Production			Value	
	Total						
	Harvested	Per			Per		
	Acreage	Acre	Total	Unit	Unit	Total	
Miscellaneous *	210	12.0	2,520	tons	615.00	1,550,000	
TOTAL	210					\$1,550,000	

^{*}Includes Artichoke, Asparagus, Beans-Green, Beets, Broccoli, Brussel Sprouts, Cabbage, Carrots, Cauliflower, Celery, Cilantro, Corn-Sweet, Cucumbers, Herbs, Leeks, Lettuce-Head, Lettuce-Loose Leaf, Melon-Misc., Onions-Dry, Onions-Green, Oriental Vegetables, Parsley, Peas Peppers-Chili, Radishes, Spinach, Squash-Other, Strawberries, Tomato.

FIELD AND SEED CROPS

		Production			Value	
	Total					
	Harvested	Per			Per	
	Acreage	Acre	Total	Unit	Unit	Total
Wheat - Grain	460	2.00	920	tons	280.00	258,000
Alfalfa - Silage	430	9.80	4,210	tons	110.00	463,100
Corn - Silage	140	26.00	3,640	tons	50.00	182,000
Sorgum - Silage	140	15.00	2,100	tons	55.00	115,500
Pasture, Irrigated	850		850	acres	120.00	102,000
Range	5,000		5,000	11	2.00	10,000
TOTAL	7,020					\$1,131,000

NURSERY STOCK PRODUCTION

	Production			Value	
	Acres	Total	Unit	Total	
Ornamental Nursery Stock	1,992	24,900,000	Various	70,716,000	
Turf	150	6,804,000	"	1,580,000	
Christmas Trees (Cut)	10	550	Each	40,000	
TOTAL	2,152			\$72,336,000	

SUMMARY

	Harvested Acreage	Valuation	
Citrus Crops	2,537	15,017,000	
Tree & Vine Crops	323	1,801,000	
Vegetable, Melon & Misc. Crops	210	1,550,000	
Field & Seed Crops	7,020	1,131,000	
Nursery Stock	2,152	72,336,000	
TOTAL	12,242	\$91,835,000	